1) 90 K1
2K1
70
50
K1 o 5
50
0 o 0
K2
50 K2 o 5
(0]
2) 30 K3 K3
35
o -10
35
30
(0]
3) 70 COP 60
1.25 COP > W+ < W X<
70 COP 40 3600 o
40 o
1.15 1.25
70 COP 20 COP > f ax w 3,600
1.00 1.15 > f ax w 3,600
0
(A 40 KO
(B) 95
(A (B) ok 135

Xls
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4 3
KO K1 K2 K3 gc gh
95 5 -10 0.6 0.4
1
2
3
4
5
6
7
8

KO [K1 |K2 |K3 |gc_|gh
1] 80| 30 0] -10] 0.1 09
2| 80[ 20 0] -10{ 0.2 0.8
3[ 90| 10 0] -15| 03| 0.7
4] 90| 10 0] -15[ 04| 0.6
1] 90| 30f 10{ -5 01] 09
2| 95 20 5| -10{ 03[ 0.7
3[ 95| 20 5| -10] 05[] 05
4] 95| 10 5| -15[ 0.7{ 0.3
1] 85| 30[ 15| -5| 03| 0.7
2| 90[ 20 10[ -10/ 05| 05
3] 90| 10{ 10| -10]f 0.7] 0.3
4] 95 5 5| -15[ 09 0.1
1] 90| 30f 10{ -5 02| 08
2] 95 5 5| -10{ 04| 0.6
3[ 95 5 5| -10| 06[ 04
4] 95 3) 5| -15[ 0.8[ 0.2
1] 80| 30[ 20| -10] 0.1] 0.9
2| 80[ 20[ 20 -10/ 03| 0.7
3 90| 10 15| -10] 05| 05
4] 95 5| 10 -10{ 0.7{ 0.3
1] 95| 10 5| -10] 02| 08
2| 95[ 10 5| -10{ 04| 0.6
3[ 95 0 5| -15| 0.6[ 04
4] 95 0 5| -10{ 0.8[ 0.2
1] 95| 10 5| -5| 02| 08
2| 95 10 5| -10{ 04| 0.6
3[ 95 0 5| -10| 0.6[ 04
4] 95 0 5| -15[ 0.8[ 0.2

Xls
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STEP

STEP

/h) 70 [50 |
HEX-1 500 380 63 70 66.5 505 [o o 12 6000 58.8 FALSE 58.82353 FALSE 58.82353
HEX-2 650 510 62 68 65 5ljo o 4 2600 255 FALSE 254902 FALSE 25.4902
OF-1 1500 o 1 1500 14.7 FALSE FALSE 14.70588 14.70588
EF-1 100 1 100 10 FALSE FALSE  0.980392 FALSE
10200 100.0 0 84.31373 15.68627 99.01961

Xls
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STEP3

100

100

100

100

(Sl A B PRI LS Ll Ll

100

XIs

4-3

> ><
PAC-1 45 1 37 37 1665 35 1575
PAC-2 10 1 115 175 175 30 300
PAC-3 56 2 44.3 443 2480.8 30 1680
PAC-3 56 3 43.6 43.6 24416 30 1680
PAC-3 56 4 429 429 24024 30 1680
PAC-3 56 5 422 42.2 2363.2 30 1680
PAC-4 224|12 15 29.8 29.8 667.52 30 672
3014 12195.52 9267
40.46291 30.74652

>

>
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STEP

STEP

Cw

Hw

Cf
Hf

XIs

COP
PAC-1 45 50 159] 142] 0] 0 1 1.138 45 14.93
PAC-2 10 112 38 39 0 0 1 0999 10 3.32
PAC-3 56 63 173 181 0 0 4 1221 224 74.32
PAC-4 224] 265 _0.7] 08| 188 1838 1 1.154 224 743
3014 100
0.6
0.4
COoP
cop =C C =<H Hw <3600 o
cop <C C oxC 3600 <H H a>xHw 3600
9830 kJ/kwh)
KO
95
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